General Algebra 11
Lesson #1 Unit S
Class Worksheet #1
For Worksheets #1 and #
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The maximum and the minimum
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The maximum and the minimum
values of T will occur at a vertex

of the region.
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The maximum and the minimum
values of T will occur at a vertex

of the region.
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The maximum and the minimum
values of T will occur at a vertex

of the region.
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The maximum and the minimum
values of T will occur at a vertex

of the region.
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The maximum and the minimum
values of T will occur at a vertex

of the region.
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The maximum and the minimum
values of T will occur at a vertex
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The maximum and the minimum
values of T will occur at a vertex
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The maximum and the minimum
values of T will occur at a vertex
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Questions 5-8

x+3>0
x+y>0
2x -3y <15
2x +3y <36

x — 3y >-27
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" The maximum and the minimum
(3,10) values of F will occur at a vertex
- of the region.
(3.8) = = J
\ 8. F=4x-2y
\l\; (17 "= 2 =\ C —_— AA At /1A == A =\

Good luck on your homework !!

(

¢ i S At(310) => F=12-20=-8
4 8 12
» At(-38) ©—=> F=-12-16=-28
1% At(33) =—> F=-12-6=-18

At(3-3) =—> F=12--6=18
At (12.75,35) —> F=51-7=44






